— FH5ER 04-1 -
FH5EM 04-1 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=22—62+9 (2) y=—32% — 62 — 8
(3) y=—222 —4x +1 (4) y=—b52*4+ 10z +3
(5) y =32% — 6z + 2 (6) y =42 +8z+9
(7) y =32* + 62+ 10 8) y=a?—4x -7
(9) y = —42?+ 322 +2 (10) y = —22 — 2z

— 13th-note —



— FH5ER 04-1 -
FH5EM 04-1 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=22> -6z +9 (2) y=—322—62—8
y = (z—3)° y=-3(x+1)°"~-5
(3) y=—222 -4z +1 (4) y = —522 + 10z + 3
y=—-2(x+1)°+3 y=—5(x—1)°+8
(5) y =32% — 6z + 2 (6) y =42 +8x+9
y=3@x—-1)>"-1 y=4(x+1)°+5
(7) y =32* + 62+ 10 8) y=a?—4x -7
y=3(x+1)>°+7 y=(x—2)°%—-11
(9) y = —42? + 322 +2 (10) y = —22 — 2z

— 13th-note —



FII5ER 04-2
RO 2 WBIB AT FE LIRS,

(1) y =522 + 30z — 8

(3) y=32>+6x+5

(5) y = —42% +24x — 8

(7) y =522+ 10z — 6

(9) y=222> -8z +5

— FH5ER 04-2 -
(  /10)

(2) y=—a2?+4x -5

(4) y=42% — 322 + 1

(6) y=—32%— 122+ 10

(8) y = 5x% + 30z + 10

(10) y = —42% — 8z + 2

— 13th-note —

)



EAHERK 04-2

WD 2 WL A I FERR L7 S0,

(1) y =522 + 30z — 8

y=5(x+3)*—53

(3) y=3x>+6x+5

y:3(a:+1)2—|—2

(5) y = —42? + 24z — 8

y=—4(x—3)°+28

(7) y =522+ 10z — 6

y=>5(x+1)*—11

(9) y=222> -8z +5

y=2(x—2)°-3

— FH5ER 04-2 -

( /10 ( )

(2) y=—a2?+4x -5

2

y=—(x—2)" -1

(4) y=42% — 322 + 1

y=4(zx—4)° —63

(6) y=—32%— 122+ 10

y=—3(x+2)°+ 22

(8) y = 5x% + 30z + 10

y=5(x+3)*—35

(10) y = —42% — 8z +2

y=—4(x+1)*+6

— 13th-note —

)



— FH5ERK 04-3 -
5 04-3 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=—322 - 62 —6 (2) y =522 + 30z

(3) y=—222—4x -9 (4) y=—-222 -8z +5
(5) y=—32%+ 12z — 1 6) y=a2?—-2z+1

(7) y =52% + 10z + 4 (8) y = —5x? — 20z + 6
9) y=—a?+4z—1 (10) y = 422 — 242 + 10

— 13th-note —



— FH5ERK 04-3 -
5 04-3 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=—-322—62—6 (2) y =522 + 30w
y=-3(x+1)°-3 y=>5(x+3)°—45

(3) y=—222—42 -9 (4) y=—-222 -8z +5
y=—-2(x+1)>°-7 y=—2(x+2)°+13

(5) y=—32%+ 12z — 1 6) y=a2?—-2z+1
y=—-3(x—2)°+11 y=(x—1)°

(7) y = 52% + 10z + 4 (8) y=—5z%—20x +6
y=5(x+1)° -1 y=—5(x+2)*+ 26

9) y=—a?+4z—1 (10) y = 422 — 242 + 10
y=—(z—2)"+3 y=4(z—3)" —26

— 13th-note —



— FH5ER 04-4 -
FII5ER 04-4 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=22—2z -8 (2) y =52% — 20z

(3) y=—a2?+8x—5 (4) y=—-a2?+2z-3
(5) y =42% + 322+ 6 (6) y =322 — 12z — 8
(7) y=—22% - 162 -5 (8) y=a2*+6z+3
(9) y =522 + 40z — 4 (10) y = —22%2 + 122 + 1

— 13th-note —



— FH5ER 04-4 -
FII5ER 04-4 (  /10) ( 7

WD 2 WL A I FERR L7 S0,

(1) y=2%—-22-38 (2) y =522 — 20w
2 2
y=(x—1)"—-9 y=5(x—2)" —20
(3) y=—22+8r—5 (4) y=—22+22r-3
y=—(z—4)°"+11 y=—(x—1)" -2
(5) y =42% + 322+ 6 (6) y =322 — 12z — 8
y=4(x+4)° - 58 y=3(x—2)°—20
(7) y=—22% - 162 —5 (8) y=2*+6z+3
y=—2(x+4)* 427 y=(x+3)°—6
(9) y =522 + 40z — 4 (10) y = —22%2 + 122 + 1
y=>5(x+4)° — 84 y=—2(x—3)°+19

— 13th-note —

)



— FH5ER 04-5 -
5 04-5 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y =522 +200 — 7 (2) y = 522 + 30z + 4
(3) y=—32%— 18z — 8 (4) y =522 — 202 + 9
(5) y=—22%+ 16z +9 (6) y=a2%+6x —2

() y=a2*—6z+7 (8) y=—32% - 182+ 10
(9) y =422 + 242 — 6 (10) y = —22 + 4z

— 13th-note —



EAHERK 04-5

WD 2 WL A I FERR L7 S0,

(1) y =522 +20x — 7

y=5(x+2)° —27

(3) y=—32%— 18z — 8

y=—-3(x+3)*+19

(5) y=—22%+ 16z +9

y=—-2(x—4)°+41

() y=a2*—6z+7

y=(v—3)"—2

(9) y = 42% + 242 — 6

y=4(x+ 3)° — 42

— FEAER 04-5 —
( /10) ( 5

(2) y =522+ 30z + 4

y=>5(x+3)°—41

(4) y =522 — 202 + 9

y=5(x—2)°—11

(6) y=a2%+6x —2

y=(x+3)°-11

(8) y = —3a2 — 18z + 10

y=—3(x+3)*+37

(10) y = —22 + 4z

y=—(z—2)"+4

— 13th-note —

)



— FH5ERK 04-6 —
FII5ER 04-6 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y =42? — 162 + 2 (2) y =422 + 24z + 9
(3) y=2>—-8x -5 (4) y = 42% + 162 — 6
(5) y = —5z% + 10x + 10 (6) y =222+ 162 — 3
(7) y =522 —40x — 5 8) y=2*—8x+5

(9) y=—42? -8z —2 (10) y = 422 + 322 + 2

— 13th-note —



— FH5ERK 04-6 —

FII5ER 04-6
RO 2 RSz FIiFEp Ls S,

(1) y = 42? — 162 + 2

y=4(x—2)°—14

(3) y=2>—-8x -5

y=(x—4)°—21

(5) y = —5z% + 10x + 10

y=—5(x—1)*+15

(7) y=>5x% —40x — 5

2

y=5(x—4)" —85

(9) y=—42? -8z —2

y=—4(x+1)*+2

( /10 ( )

(2) y=42% + 242 + 9

y=4(x+3)° —27

(4) y = 42% + 162 — 6

y=4(x+2)* —22

(6) y =222 + 162 — 3

y=2(x+4)°-35

8) y=2*—8x+5

y = (x—4)*—11

(10) y = 42° + 322 + 2

y=4(x+4)° — 62

— 13th-note —

)



AR 04T
THRAH 04-7 (/10 SR )

WD 2 WL A I FERR L7 S0,

(1) y=22+62—-9 (2) y=—-322—18x+5
(3) y=42* + 8z + 10 (4) y=a2%+8zx —2

(5) y=32>+ 18z —6 (6) y=—b5x*+ 20z + 3
(7) y = —32% — 242 — 1 (8) y=—322— 18z — 1
(9) y=—4a2?+ 162 +7 (10) y = —22% + 162 — 4

— 13th-note —



AR 04T
THRAH 04-7 (/10 SR )

WD 2 WL A I FERR L7 S0,

(1) y=22+62—-9 (2) y=—-322—18x+5
y = (x+3)°—18 y = —3(x+3)°+ 32
(3) y =422 +8x + 10 (4) y=22+8z —2
y=4(x+1)*+6 y=(x+4)°—18
(5) y =322+ 18z — 6 (6) y = =52 4+ 20z + 3
y=3(x+3)°—33 y=—5(x—2)°+23
(7) y = —32% — 24z — 1 (8) y = —322 — 18z — 1
y=—3(x+4)*+47 y=—3(x+3)*+26
(9) y=—4a2?+ 162 +7 (10) y = —22% + 162 — 4
y=—4(z—2)"+23 y=—2(z—4)" +28

— 13th-note —



— FH5ER 04-8 -
TSR 04-8 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=—42? — 322 — 7 (2) y=—32% — 62+ 8
(3) y = —222 — 162 + 10 (4) y=2a2%+ 6z

(5) y =222 — 16z — 1 (6) y =222 —4x +1
(1) y=—a*—-2zx—1 (8) y =32 + 24z — 2
(9) y =22+ 6z + 2 (10) y = —22%2 +42+9

— 13th-note —



EAH5ERK 04-8

WD 2 WL A I FERR L7 S0,

(1) y=—42?—322 -7

y = —4(x+4)* 457

(3) y = —22% — 162 + 10

y=—2(x+4)* 4+ 42

(5) y =222 — 16z — 1

y=2(x—4)°—33

() y=—a?—-2zx—1

y=—(z+1)"

(9) y=2%+62+2

y=(x+3)7°—-7

— FH5ER 04-8 -

(2)

(4)

(6)

(8)

(10)

— 13th-note —

( /10 (

y = —32% — 6z + 8

y=—-3(x+1)*+11

y = 2% + 6x

y=(x+3)°-9

y =222 —4r+1

y=2(x—-1)°-1

y = 322 + 24z — 2

y=3(x+4)°—-50

y=—22>+4x+9

y=—2(x—1)°+11

)



— FH5ER 04-9 -
5 04-9 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

1) y=—42? — 8z +4 2) y=32%+ 18z — 4
(1) y y

(3) y = —5z% + 20x + 10 (4) y=322+120+7
(5) y=—22% —8x — 6 (6) y = —bx? — 20z
(1) y=—322—24z +1 (8) y=—222+ 12z — 8
(9) y = 222 + 162 — 4 (10) y = —22 + 62 — 1

— 13th-note —



EAH5ERK 04-9

WD 2 WL A I FERR L7 S0,

(1) y=—42% -8z +4

y=—4(x+1)*+8

(3) y = =522 4+ 20x + 10

y=—5(x—2)°+30

(5) y=—22% —8x — 6

y=—2(x+2)*+2

(7) y = —3a2% — 24z + 1

y=—3(x+4)* 449

(9) y =222 + 162 — 4

y=2(x+4)*—36

— FH5ER 04-9 -

(2)

(4)

(6)

(8)

(10)

— 13th-note —

( /10 (

y =322+ 18z — 4

y=3(x+3)%—31

y=3x2+120+7

y=3(x+2)7°-5

y = —bx? — 20z

y=—5(x+2)*+ 20

y=—2x>+ 122 — 8

y=—2(x—3)*+10

y = —x>+6x—1

y=—(z—3)"+8

)



~ F75EM 04-10 -
TH5ER 04-10 (  /10) ( Z) )

WD 2 WL A I FERR L7 S0,

(1) y=—322 — 182+ 9 (2) y=42% + 32z +4
(3) y =522+ 10x (4) y=—2>+21x+6
(5) y = —5x? — 20z + 10 (6) y=—22%+ 8z

(1) y=—-322+ 12z +1 (8) y=4a*+32x -7
(9) y=2a%+6z—10 (10) y = —52% — 40x — 8

— 13th-note —



EA5ER 04-10

WD 2 WL A I FERR L7 S0,

(1) y=—-322— 182+ 9

y=—3(x+3)*+36

(3) y =522+ 10x

y=5(x+1)7°—-5

(5) y = —5a? — 20z + 10

y=—5(x+2)*+30

(7) y=-32*+ 12z +1

y=—3(x—2)"+13

(9) y=22+62—10

y=(x+3)°—19

— EA5ER 04-10 —

(

/10) (

(2) y =42 + 322 + 4

y=4(x+4)°>—-60

(4) y=—22+22+6

y=—(x—1)°+7

(6) y=—22%+ 8z

y=—2(x—2)°+8

(8) y=4a2®+32x — 7

y=4(x+4)>*—-71

(10) y = —52% — 402 — 8

— 13th-note —

Yy

—5(x +4)* + 72

)



